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Q.1 In a certain code language, ‘CHAPTER’ is written as ‘EKEUZLZ’. What is the code for
‘STUDENT’ in that code language?

Ans X A UWYILVB
2 B. UWYIKUA
« C. UWYIKUB
25 D. UWYILUB

Question ID : 1034354055

Q.2 In the following question, select the missing number from the given series.
4,12, 48, 240, 1440, ?

Ans ¢ A 10080
X B. 10880
X C. 18800
X D. 10800

Question ID : 1034354061

Q.3 Based on the given venn diagram, which of the following statement(s) is/are correct?
I. The number of horses who are not cow is 161.
Il. The number of bulls who are cow is 7.

69 Horse

71

Bull— 21]6/

39 17| 87 F—Cow

Ans X A.Onlyll
«” B. Neither I nor Il
X C.Onlyl
< D.Both land Il

Question ID : 1034354064
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Q4 3 U T vy ® 8 FYF 3R 3P a1g 39 FYAI W e oo ey few 1w €1 fig

T HYAT B TS M, TR TR AH=T 1d a4t § Fierar g1 |ef freed ue ok fhw
fruffra =3 o o T w19 | foreed, fRT 7T By & MR W giFaeTa g1
DY:
LA, PRI
II.WP,T%%!
N.$3T, S8l
foren:

|.W[=,s%'|
IL.PSA TEI
N.$SP, s T &1

Ans X A %Had (ISR | SHTHR0T BT §
o B. T 17t frepef 3o 76t e ©
X C. Had fIsw |1 SRR FRT &
X D. $ad FHe 111 3IHR0T Rl §

Question ID : 1034354060

Q.5 i fou T vy ® 8 FYF 3R 3P 91¢ 39 HYAI W Ra o e 2w 1w € foy
T YT P TS A, TR S0 AW 1 a2 I fimrar g1 3 e ud ok fR
fFruffya =% f fow e 19 | e, AT T $y=i F snuR W gidwima g1
DY:

L.gfiP QI
I.$SP,CEl
e

|.w6,c%|
I.$SP,C TR
Ans X A @IS o s SrgaRor el bRl §
 B. $ad s | SR el B
X C. Tl e | T Il 3RO R §
X D. Had fIsw 11 $I¥R0I HRT &

Question ID : 1034354059

Q.6 AR A, B, C, D, E, F 94T G FI AT HaTS 81 A B 8 I8 w0 Fa1s 81 A a7
D $I SHaTS4l & It & Pad gl AR I HaT8 31 E B SATS G P TS A $H 31 A P
SIS B B HATS 4 B o | $adl g AR BT $HaTs F 31 HdTs A S 51 ¢ F1 Ha1g
B 3 SdT% & 3ife 31 Frafifea & & o1 w1 oy wél 72
1. C 3} HaTE wad 3T 31
II. E F SIS TaR U T8 81

Ans X A | UGS
X B.AEIATE I
o C.Pad|
X D.Fadll

Question ID : 1034354057
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A

Ans

o A

Q.7 If a mirror is placed on the line AB, then which of the answer figures is the right image
of the given figure?

@®0
P00
ed®

PSe
000
e0e

X B.

(11"
000
e0e

oS
©00
e0e

0Se
00
e0e

Question ID : 1034354069

Q.8 frgfufad uy d fRw e e & 9wy fore (7) & ®IMA W 3 arell G 3t gfwl

24| 18 | 12

6|14 | 9

8 7 ?

72)116| 48
Ans X A.6

X B.9

K C.3

& D.4

Question ID : 1034354062

Q.9 P*Q P13 P, QP AWM, ‘P < Q P13 ‘P, Q HTHTE &, ‘P > Q" FT 314 ‘P, Q B I8
e, P=QHd P QB @, P+Q B AT P QBT P@Q T3P, QT
o ¥ | Fafafaa & @ o9 a1 aiws F 31 A &1 R gxifar 82

Ans X AA*B@C+D>E=F
X B A@B=C>D+E*F
« CA@B*C<D>E+F
KX D.A*B@C<D+E+F

Question ID : 1034354058
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Q.10 T 3w foar mar 8, o & T U Ted 71 fiw e el & @ 39 wed ug +t il
LJ, GM, BP, WT, RV, MY

Ans X A RV
o B.WT
X C. MY

X D.BP

Question ID : 1034354050

Q.11 foaf PR, T4 82
24 £ 21 N~ T

78

Ans X A 44

X B.8
X C.130

o D.52

Question ID : 1034354063

Q.12 FofafEd vy § Re T e § @ e T # ghml
R : TSP :: UIgsl : ?
Ans X A TS
o B. U
X c.ga
X D.¥sd

Question ID : 1034354053

Q.13 T& YT, A TUT B TP G P 3T A TS ¢1 e A ) ROTE S RS ekl 8, A B
e fam & @ veT 87

Ans X A Td
X B. clém
X C. W
& D. 3w

Question ID : 1034354065
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Q.14 3fe Tw qUur &Y AB W1 UR @ WY, @ i 718 IR snpfaal & ¥ &1 i enpfa uy
Tpia @t wet ufafda grfte

Aq
&

A~rrroeroee B
Ans

XA d]

« B.

Q-

.4
o
<H

>
{H
-i‘ -IL‘ -ﬂ‘ -!l’

Question ID : 1034354068

Q.15 faffEa uy #, siert &1 ve g far a1 3 | vl Uy & SHer W 9gE F ekl &
a1y 5w abfauRidy F wafta 31 33 e el # 9 srert &) ue agg #t gihg st
A qh/FOARISY BT R0 BT 8l
(LQ, PM, TI)

Ans X A.(PF,JB, HX)
X B.(UX, YB, CE)
& C. (ND, RZ, W)
X D. (ZB, VW, RT)

Question ID : 1034354054

Q.16 frafefaa vy & i v s d | uy farg (2) F RIM W 3 arelt snpfa &t gl

#|A||B|#]|[(C|B ,? $#|A
B|C||C|A||A|# ’ B|C
Ans
VAAG
|3 B
AlD
X B.
#|B
A|C
X C.
B |#
ClA
X D.
#|B

Question ID : 1034354067
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Q.17 Te I H foar mar 8, o @ ve ue ad 21 fiw e fiwel # @ 39 e ug Y gl
PX281, SB317, VF343, YJ389, BN425, ER461

Ans o A VF343

X B.SB317
X C.ER461
X D.YJ389

Question ID : 1034354051

Q.18 fyg A, figc Ao Mexuldm A g1 fig B, figc a4
ggaaﬂﬁfgﬁélﬁgs, i Eﬁ3o:fﬁi§? gg%lﬁgﬁﬁgeﬁsoﬁaaf&m
figrafrafigiauam A Rz d 32

Ans A 50 HIcR, ITR-UEH
X B. 70 Hiey, Eféor-gd
X C. 50 iR, cfemrud
X D. 70 Hicx, ITR-UEH

oHerIW ARG ¢, figp A 50
#gIfig A,

Question ID : 1034354066

Q.19 g AR P, Q, R, S, T IUT U T Ul A IR & 3R Y& HId 964 & (=<1 71 3t 3t
HAAE)I Q, S P il 3R T TH W 541 81 P 94T Q & 94 # Ts afda Isa1 81 R
%mﬁ?ﬂqmﬁﬁﬁl R, P % q¥d 9Tt 3R Soa1 31 TauT U & g & fam

?

Ans X AT
X B.dH
 C.Th
X D.IR

Question ID : 1034354056

Q.20 = fau 7T uy ®, AR &R T 3T TC §1 (<) F IRt R A T 3rerR () F ordt ik fR
T &R | el adh/fraurisy T Wefta 81 fF 30 ve ab/fausey & R w®
Tu g1 fou e fawet d A faww &t gl

Ans X A.CJ-DL
« B.LF-MG
X C.AN-BP
X D.PQ-QS

Question ID : 1034354052

Section : General Awareness

Q1 Fufafed & 3 &9 o Fu= T8 82
1. GaPty &7 ¥ ufewmor aut fa=m 1 g 7
%.Mﬁwmﬁlﬁ%ﬁeﬂmﬁvﬁwﬁw%mwuaamﬁﬁgaﬁwm@m
[

Ans X A Fdd|
& B. 13U I ST
X C.Hadll
X D.Arg g

Question ID : 1034354076
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Q.2 2GR TEr P9 A | Tafa 32
Ans g A fooe

X B.Fw

X C.peald
X D. Toq g

Question ID : 1034354088

Q.3 fmfafad & & few 9 &) <féror dwm of w1 82
Ans A P

& B. et

X c.amt

X D. TeHE

Question ID : 1034354078

Q.4 yRdT S BT B | ferafei & arfteror, fFe=m iR frrd=or &1 faf=a
ST # FAifgd g9 § Hefid 82

Ans X A. 318
X B.322
X C.320
o D.324

Question ID : 1034354087

Q5 SudciugRiT A amnufafdawea_ 3R __ @ardl
Ans XA.W,GFET

X B. aRaide®, e

o C. ST, Hie

X D. 3y, e

Question ID : 1034354075

Q.6 g X oy W 3o faforaw fael o1 oy s w5 &t @ dieq a1 9ee & e R Tt
2IW__ wEremarz
Ans A dF
X BOR
X C. e 3Rf&rd iy srgura
X D.RadareR

Question ID : 1034354072

Q7 e Bt gy frw o A g A2
Ans X A. 1705

X B.1710

X C.1712

«” D. 1707

Question ID : 1034354081
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Q.8 “HTE AP 37 Fe: I, Birelt TS o WY (WS & a9 D 82
Ans X A AT SRR

X B. gUR I

o C.ETR

X D. IS 9%

Question ID : 1034354084

Q.9 Who will remain as attorney general of India till June 30, 20227
Ans X A. Shri Manoj Kumar

< B. Shri Girish Chandra Murmu
< C. Mukul Rohatgi
«” D. K.K. Venugopal

Question ID : 1034354083

Q.10 frrgfifed & @ 19 91 HU= |98l 87
1. 1801 ¥ 3@Y W WGP Tl TS 1S <t
I1. TER 1862 W T 9 T FQTGR 8 JHR B1 Jog g3 A1

Ans X A &Hdd |
X B.®had I
Xc.amgiagn
& D. 1 3111

Question ID : 1034354082

Q1 FEA TSI gAML RU__ T wR@E 2|
Ans " A SEITA

X B.TM

X C.Tierast

X D. Ry

Question ID : 1034354077

Q.12 Pofafea § d 5 urew avf &1 SHTER o1 oI 82
Ans o A SRS

X B. RS

X C. ddiwTgen

X D. fomres

Question ID : 1034354074

Q.13 fEfifEa & A o149 a1 5= 9 82
1. HhT B Welt & g weay araar, auf ok WRGR YU & srazaddr gt 31
I1. 90T HY ATforfus FY &1 1 ToR 3|

Ans g A | TUTIIGHT
X B.%ad |
Xocoamgaa
X D.&adll

Question ID : 1034354079
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Q.14 TR Jar TR WA & fobw Toa F w4 ST 82
Ans X A TR

X B. 3H

& C. Ty

X D. ffeiRe

Question ID : 1034354070

Q.15 %9 31U 2021 H1 AR Urd Rara fraa sfiar &2
Ans X A TARAIRANT Uqega-ebial

& B A1l el

X c. R g

X D. HRAf feresrar

Question ID : 1034354089

Q.16 ‘BRTHEE REBR fF T31aa gR1 ueH a1 T 82
Ans X A e dame

X B. 3 Ud fbaM seurv Harery

o C. WY Ud URAR SHedmur HaATer

X D. Afgan vd 91« faw Hareg

Question ID : 1034354085

Q.17 fgfafea & @ #1991 $y= 98l 87
I T4 Befee AR Tia 9 ) usfaai §1
1. UrRI=aH Sifta o1 forad s Afga A
Ans X A %Had Il
o B. 13T I AT
X C.%Had |

X D.Ag g

Question ID : 1034354071

Q.18 gufean vfeeaufers TR @t fAkrvarst & wef & Frafifed ¥ @ o9 o sy w9 32
1. SR & <1 WE & St vd fadear 1 71
I1. BHT $T IR § W Y T qiata= g g1
Ans X A FTEIATENN
o B. 1T IS
X c.oadll

X D.%ad |

Question ID : 1034354073

Q.19 YR HIUT BT S A1 3D Ga ifeRT ot gRumen F wafla 32
Ans X A 14

X B.10
X C.16
& D. 12

Question ID : 1034354086
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Q.20 @rgaT # STER A 70 | P frw e H gwrar ur?
Ans o A 1527

X B.1528
X C.1529
X D. 1526

Question ID : 1034354080

Section : Arithmetic Ability

Q.1 TH PR A, B YT C §RT Fias= R {6501 a1 A 991 B 7 fas? o1 &1 30 wfa=ma umn
ORT fSran a1 B 9T ¢ 7 frass wrd @1 80 wferzra wm qr1 famam i & @ wa siftres
PG P 372

Ans X A @t TAHE
X B.B
KX C.A
& D.C

Question ID : 1034354104

Q-2 500 TUY H TH a¥g B! I W UG ATH 400 TUA | I I P 999 W §8 81 & RIS
21 afe fasra e 350 U B, a g1+ wia=ra wm g

Ans X A. 20 fa=id
& B. 22.22 Ufa=a
X C. 18 wfa=a
X D. 16.66 Ufa=rd

Question ID : 1034354098

Q.3 480 m Tdl TS ¢, WS §U UH ATSH! &Y 24 AP s § UR $Idl @ | 39 FT I10 1d P 2
Ans X A 64 fa5 =l der

X B. 60 for it adar

& C. 72 b5 me

X D. 54 fo 1t et

Question ID : 1034354102

Q.4 90 g&f TP Heh Uk ¥ 59 UPR T 914 ¢ b fr=gt Wit @ poimra galf & wem ot g
U g1l 54 .30 rer 31 7fd F 7 36 Uh o g 941 | WIad 94 a% Uga | 30
JHUs At B1 113 gai quUT 463 J&I F ey g8 FT 82

Ans 2 A 2625 TR
X B. 2750 Hicx
X C.2475 WX
X D. 2575 HieR

Question ID : 1034354103
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Q.5 i faar mar gus i 6 gPTERI §RT 99 T Al ot W& B gl §1 Te fafky
ERT 93 T HaHl $1 TSI B 39 6 GHGRI GRT oA T Fad! It & &

GPTHER
yfa=ra & U # g=iar T gl
30%
20% 20%
15%
10%
‘%
51 52 56

uﬁ;ﬁwﬁmﬂ%wﬁﬁaﬁwmsoo%ﬁfm ERT 9 Y Hanl $t WM
FTR?
Ans o A 180

X B. 200
X C.120
X D. 160

Question ID : 1034354108

Q.6 =i fear mar urg =1d 8 fafire Irsul GRI BTW! & ST &1 gl g1 Tl sl gRT HIw
P Hd ITG 20000 81 TP fIRNT 350 gRT HTW! & It oY 39 Tt 8 Tl gy
PPt & Fo IATGT & Ua=Id & =0 & g=ITar 71 g1

H

a 3%

2%

D
5%

J1 =T A, D, F IUT G GRT BI®! &1 3Td Scarg|
J2 =54 B, C TYUT H §RT HIB! & IdTG BT AN
(J2 - J1) BTHFE T 82
Ans o A. 7300
X B.7200
X C.7500

X D. 7400

Question ID : 1034354107
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Q.7 1240 ¥ F AU W 2 TuT F g 10 viowra vy af 3} @r & WreRor s @ FYM?
Ans X A 228300

X B. 496 30
o C. 248300
X D.328 %00

Question ID : 1034354101

Q.8 gfg &t TSl BT UG 216 | TUT ST a7l BT A1 468 B, ot TWAA BT 91T 74T 82
Ans X A. 36

X B.38
X c.32
o D. 30

Question ID : 1034354093

Q.9 IfE T T Y587X, 90 | Yufa: RAvIRa &, A Y - X &1 0 w82
Ans X A4

X B.3

&#C.7

X D.5

Question ID : 1034354092

Q.10 9 & WyW 9 VI BT Sd T 82
Ans X A. 46

X B.40
X C.35
& D.45

Question ID : 1034354095

Q.1 T 1S fRAryurg ura s & g 72 .71, frgrerg A #5170 .70 frsreng B & ary frarn
SITaT 31 afe frsiurg A § ST AT 919 BT Ut HHI: 3 : 6 8 adT fAyTg B H Swar aur
AT BT SUTA HHTT: 4 : 3 8, A 7 FIyeTg ¥ oa BT UR 7182

Ans X A 78 &3
o B. 64 TH.
X C.a4fHmm
X D.safewm

Question ID : 1034354100

Q.12 (104 + 26 x 5) + 8 x 2 — 6 BT A FAT 8?2
Ans o A.30

X B.36
X C.35
X D.25

Question ID : 1034354090
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an 57% 5 355 » 33% A 3PS VI W B I 3 82

Ans o A5
X B.4

X C.6
X D.7

Question ID : 1034354094

Q.14 g fht T@I T 1/3 BT 1/5 BT A 8 8, A TEIT BT 1/5 BT A FT 22
Ans o A 24

X B. 30
X C.28
X D.25

Question ID : 1034354091

Q.15 gfe f+t o1 gea 20 wfozra ¥ w4 far wmar 8, 9 T safd 2500 $Ud F 20 f.m. A
3 Tdg wwar 81 ufa fb.am. -t &1 a1 gea w7 ghme

Ans X A 30300
X B. 12530
o C.25%W
X D. 50 %00

Question ID : 1034354097

Q.16 =fra far ar Y i 6 fafire el # aawet ofik a=if @Y wen o gufar 21
60

"
45 N
40 40 /,//

\ / 30

h S
oA 3
-/’/\ \L / \ / -\\

'\

L

T T T L] v ! i

A B C D E

Frafefed & 9 o9 a1 su= 9 82
1 3t 6 TiTal & TURHT Y U GO Tl B U GBI BT 130 Wl 21
1. T V2 9UT V3 & TOh] D1 SRTd &1 BT 711d V4 TUT V5 § a=i) B 3N IS 9

3UTd 14 : 23 B
Ans X A Fad|

X B.Fad Il
Xoc.AagAa
o D. 1 T I

ry

Question ID : 1034354109
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Q17 & BT &md 252 4.2 81 afe % fawf $t J. 3 @
mﬁ%w%? 2 w N =

Ans X A 123
X B.18 4.
X C.24 QT
o D.36 3.

Question ID : 1034354105

Q.18 us gu &1 &A% d 1848 A.11.2 71 39 g 3t uRfY v w91 ® 3t &1 oA arelt wad wielt
TS P! GATS S IR 81 30 99 BT d USHI 76T 1 82

Ans X' A 64256 .12
o B. 46464 4.1 2
X C.54548 9.11.2
X D. 52422 4.1t 2

Question ID : 1034354106

Q.19 e wden #, IufRE B Bt pa T@ d A 75 ufawa o Il gu §1 afe 5050 B
gl gu 21 @ wdten & Suflyd gT BT B o den | e
Ans X A.20020

X B. 20220
X C. 22200
« D. 20200

Question ID : 1034354096

Q.20 %ﬁqﬁmaﬁwammz :3: 5 31 A ITHT TUHEE 810 8, dt Y Tammait &1 AR Far
?

Ans X A.50
X B.40
X C.20
& D. 30

Question ID : 1034354099

Section : General English

Q.1 Choose the word that can substitute the given sentence.
One who studies families

Ans X A. Anthologist
< B. Anthropologist
#< C. Conchologist
” D. Genealogist

Question ID : 1034354124
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Q.2 In the given question, four words are given out of which one word is correctly spelit.
Choose the correctly spelt word.

Ans  # A. Mimesis
< B. Mimesiss
25 C. Memesis
< D. Mimessis

Question ID : 1034354120

Q.3 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To give the gun

Ans  «# A.To accelerate
< B. To intimidate someone
#< C. To threaten somebody with a weapon

5 D. To deceive someone

Question ID : 1034354123

Q.4 Find the part of the given sentence that has an error in it. If there is no error, choose

‘No error’.
Every boy and girl (1)/were ready to take part (2)/ in the dance competition (3)/.No error

(4)
Ans X A.3

o B.2
X cC.4
X D.1

Question ID : 1034354110

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.
They will be abdicated the king.

Ans  # A. will be abdicating
#< B. will have abdicating
< C. No improvement
< D. will abdicated

Question ID : 1034354112

Q.6 Rearrange the parts of the sentence in correct order.
P: But to read nothing but books of fiction is like eating nothing but cakes.
Q: There are many noble books on history, biography, philosophy etc.
R: For this we can choose according to our taste.
S: As we need plain food for the body so we must have serious reading.

Ans X A.SRPQ
X B.PRQS
X C.SPRQ
« D. PSRQ

Question ID : 1034354117
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Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.
Sleep is indispensable for maintaining immunological (1)/function, which is a key to
prevent (2)/and recover from infectious diseases (3)/.No error (4)

Ans X A.2
X B.3
& C.4
X D.1

Question ID : 1034354111

Q.8 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
Dog moved towards his master.

Ans X A.shamefully
< B. mainly
« C. briskly

< D. holy

Question ID : 1034354114

Q.9 Choose the word that is opposite in meaning to the given word.
Adjourn

Ans X A. Nullify
o B. Muster
< C. Intermediate
< D. Rescind

Question ID : 1034354119

Q.10 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
At one’s finger tip

Ans X A. To be born as the first child
#< B. Daring
/< C. An expensive one

«” D. Easily available

Question ID : 1034354122

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.
She have everyday been affectionate for all her relatives.

Ans X A.No improvement
/< B. has everyday been affectionate for
#5 C. have always been affectionate to

«” D. has always been affectionate to

Question ID : 1034354113
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Q.12 Choose the word that means the same as the given word.
Strict

Ans o A. Austere
#< B. Prodigal
< C. Lavish
#< D. Deplorable

Question ID : 1034354118

Q.13 Rearrange the parts of the sentence in correct order.
Trenches were dug all over
P: On which we lived
Q: Japanese Air-raids and there were several
R: Along the length of the road
S: New Delhi in the anticipation of

Ans X A RSQP
X B.QRSP
& C. SQRP
X D.SRQP

Question ID : 1034354116

Q.14 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
A majority of students left the school.

Ans X A has

< B.let
" C. have

& D. were

Question ID : 1034354115

Q.15 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X A.Unpossesed
< B. Unposessed
< C. Unposesed
o D. Unpossessed

Question ID : 1034354121
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Ans

Comprehension:

Read the following information carefully and answer the given questions.

While greenhouse gases are warming Earth’s surface, they’re also causing rapid cooling far
above us, at the edge of space. In fact, the upper atmosphere about 90km above Antarctica is
cooling at a rate ten times faster than the average warming at the planet’s surface.

Our new research has precisely measured this cooling rate and revealed an important
discovery: a new four-year temperature cycle in the polar atmosphere. The results, based on
24 years of continuous measurements by Australian scientists in Antarctica, were published in
two papers this month.

The findings show Earth’s upper atmosphere, in a region called the “mesosphere”, is
extremely sensitive to rising greenhouse gas concentrations. This provides a new opportunity
to monitor how well government interventions to reduce emissions are working. Since the
1990s, scientists at Australia’s Davis research station have taken more than 600,000
measurements of the temperatures in the upper atmosphere above Antarctica. We've done
this using sensitive optical instruments called spectrometers.

These instruments analyse the infrared glow radiating from so-called hydroxyl molecules,
which exist in a thin layer about 87km above Earth’s surface. This “airglow” allows us to
measure the temperature in this part of the atmosphere.

Our results show that in the high atmosphere above Antarctica, carbon dioxide and other
greenhouse gases do not have the warming effect they do in the lower atmosphere (by
colliding with other molecules). Instead, the excess energy is radiated to space, causing a
cooling effect.

Our new research more accurately determines this cooling rate. Over 24 years, the upper
atmosphere temperature has cooled by about 3°C, or 1.2°C per decade. That is about ten
times greater than the average warming in the lower atmosphere — about 1.3°C over the past
century.

Our project also monitors the spectacular natural phenomenon known as “noctilucent” or
“night-shining” clouds. While beautiful, the more frequent occurrence of these clouds is
considered a bad sign for climate change. Our research also monitors how cooling
temperatures are affecting the occurrence of noctilucent clouds. There is already some
evidence the clouds are becoming brighter and more widespread in the Northern Hemisphere.
Hence, long term monitoring is important to measure change and test and calibrate ever more
complex climate models.

SubQuestion No : 16

Q.16 The noctilucent clouds are becoming brighter and more widespread in the:

X A. Eastern Hemisphere

«” B. Northern Hemisphere
< C. Southern Hemisphere
X D. Western Hemisphere

Question ID

: 1034354128
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Comprehension:

Read the following information carefully and answer the given questions.

While greenhouse gases are warming Earth’s surface, they’re also causing rapid cooling far
above us, at the edge of space. In fact, the upper atmosphere about 90km above Antarctica is
cooling at a rate ten times faster than the average warming at the planet’s surface.

Our new research has precisely measured this cooling rate and revealed an important
discovery: a new four-year temperature cycle in the polar atmosphere. The results, based on
24 years of continuous measurements by Australian scientists in Antarctica, were published in
two papers this month.

The findings show Earth’s upper atmosphere, in a region called the “mesosphere”, is
extremely sensitive to rising greenhouse gas concentrations. This provides a new opportunity
to monitor how well government interventions to reduce emissions are working. Since the
1990s, scientists at Australia’s Davis research station have taken more than 600,000
measurements of the temperatures in the upper atmosphere above Antarctica. We've done
this using sensitive optical instruments called spectrometers.

These instruments analyse the infrared glow radiating from so-called hydroxyl molecules,
which exist in a thin layer about 87km above Earth’s surface. This “airglow” allows us to
measure the temperature in this part of the atmosphere.

Our results show that in the high atmosphere above Antarctica, carbon dioxide and other
greenhouse gases do not have the warming effect they do in the lower atmosphere (by
colliding with other molecules). Instead, the excess energy is radiated to space, causing a
cooling effect.

Our new research more accurately determines this cooling rate. Over 24 years, the upper
atmosphere temperature has cooled by about 3°C, or 1.2°C per decade. That is about ten
times greater than the average warming in the lower atmosphere — about 1.3°C over the past
century.

Our project also monitors the spectacular natural phenomenon known as “noctilucent” or
“night-shining” clouds. While beautiful, the more frequent occurrence of these clouds is
considered a bad sign for climate change. Our research also monitors how cooling
temperatures are affecting the occurrence of noctilucent clouds. There is already some
evidence the clouds are becoming brighter and more widespread in the Northern Hemisphere.
Hence, long term monitoring is important to measure change and test and calibrate ever more
complex climate models.

SubQuestion No : 17
Q.17 Which of the following can be suitable tagline for the given passage?
Ans X A. Spectrometer in the optical laboratory at Davis station, Antarctica.
«* B. Carbon emissions are chilling the atmosphere 90km above Antarctica, at the edge of
space

#5 C. Night-shining clouds recorded about ten observations

25 D. Untangling natural signals can be really helpful for the climate change

Question ID : 1034354126
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Ans

Comprehension:

Read the following information carefully and answer the given questions.

While greenhouse gases are warming Earth’s surface, they’re also causing rapid cooling far
above us, at the edge of space. In fact, the upper atmosphere about 90km above Antarctica is
cooling at a rate ten times faster than the average warming at the planet’s surface.

Our new research has precisely measured this cooling rate and revealed an important
discovery: a new four-year temperature cycle in the polar atmosphere. The results, based on
24 years of continuous measurements by Australian scientists in Antarctica, were published in
two papers this month.

The findings show Earth’s upper atmosphere, in a region called the “mesosphere”, is
extremely sensitive to rising greenhouse gas concentrations. This provides a new opportunity
to monitor how well government interventions to reduce emissions are working. Since the
1990s, scientists at Australia’s Davis research station have taken more than 600,000
measurements of the temperatures in the upper atmosphere above Antarctica. We've done
this using sensitive optical instruments called spectrometers.

These instruments analyse the infrared glow radiating from so-called hydroxyl molecules,
which exist in a thin layer about 87km above Earth’s surface. This “airglow” allows us to
measure the temperature in this part of the atmosphere.

Our results show that in the high atmosphere above Antarctica, carbon dioxide and other
greenhouse gases do not have the warming effect they do in the lower atmosphere (by
colliding with other molecules). Instead, the excess energy is radiated to space, causing a
cooling effect.

Our new research more accurately determines this cooling rate. Over 24 years, the upper
atmosphere temperature has cooled by about 3°C, or 1.2°C per decade. That is about ten
times greater than the average warming in the lower atmosphere — about 1.3°C over the past
century.

Our project also monitors the spectacular natural phenomenon known as “noctilucent” or
“night-shining” clouds. While beautiful, the more frequent occurrence of these clouds is
considered a bad sign for climate change. Our research also monitors how cooling
temperatures are affecting the occurrence of noctilucent clouds. There is already some
evidence the clouds are becoming brighter and more widespread in the Northern Hemisphere.
Hence, long term monitoring is important to measure change and test and calibrate ever more
complex climate models.

SubQuestion No : 18

Q.18 What is the synonym of the word-‘complex’ as used in the passage?

< A. Blatant
X B. Subtle
«” C. Mixed
25 D. Uniform

Question ID

- 1034354129
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Q.19
Ans

Comprehension:

Read the following information carefully and answer the given questions.

While greenhouse gases are warming Earth’s surface, they’re also causing rapid cooling far
above us, at the edge of space. In fact, the upper atmosphere about 90km above Antarctica is
cooling at a rate ten times faster than the average warming at the planet’s surface.

Our new research has precisely measured this cooling rate and revealed an important
discovery: a new four-year temperature cycle in the polar atmosphere. The results, based on
24 years of continuous measurements by Australian scientists in Antarctica, were published in
two papers this month.

The findings show Earth’s upper atmosphere, in a region called the “mesosphere”, is
extremely sensitive to rising greenhouse gas concentrations. This provides a new opportunity
to monitor how well government interventions to reduce emissions are working. Since the
1990s, scientists at Australia’s Davis research station have taken more than 600,000
measurements of the temperatures in the upper atmosphere above Antarctica. We've done
this using sensitive optical instruments called spectrometers.

These instruments analyse the infrared glow radiating from so-called hydroxyl molecules,
which exist in a thin layer about 87km above Earth’s surface. This “airglow” allows us to
measure the temperature in this part of the atmosphere.

Our results show that in the high atmosphere above Antarctica, carbon dioxide and other
greenhouse gases do not have the warming effect they do in the lower atmosphere (by
colliding with other molecules). Instead, the excess energy is radiated to space, causing a
cooling effect.

Our new research more accurately determines this cooling rate. Over 24 years, the upper
atmosphere temperature has cooled by about 3°C, or 1.2°C per decade. That is about ten
times greater than the average warming in the lower atmosphere — about 1.3°C over the past
century.

Our project also monitors the spectacular natural phenomenon known as “noctilucent” or
“night-shining” clouds. While beautiful, the more frequent occurrence of these clouds is
considered a bad sign for climate change. Our research also monitors how cooling
temperatures are affecting the occurrence of noctilucent clouds. There is already some
evidence the clouds are becoming brighter and more widespread in the Northern Hemisphere.
Hence, long term monitoring is important to measure change and test and calibrate ever more
complex climate models.

SubQuestion No : 19
According to the passage, which of the following statements is incorrect?
«” A. Hydroxyl molecules, exist in a thick layer more than 87km above Earth’s surface.
< B. Scientists have used spectrometers to measure the temperature of upper
atmosphere above Antarctica.

5 C. Mesosphere is extremely sensitive to rising greenhouse gas concentrations.

< D. The other name of the spectacular natural phenomenon ‘noctilucent’ is night-shining.

Question ID

: 1034354127
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Comprehension:

Read the following information carefully and answer the given questions.

While greenhouse gases are warming Earth’s surface, they’re also causing rapid cooling far
above us, at the edge of space. In fact, the upper atmosphere about 90km above Antarctica is
cooling at a rate ten times faster than the average warming at the planet’s surface.

Our new research has precisely measured this cooling rate and revealed an important
discovery: a new four-year temperature cycle in the polar atmosphere. The results, based on
24 years of continuous measurements by Australian scientists in Antarctica, were published in
two papers this month.

The findings show Earth’s upper atmosphere, in a region called the “mesosphere”, is
extremely sensitive to rising greenhouse gas concentrations. This provides a new opportunity
to monitor how well government interventions to reduce emissions are working. Since the
1990s, scientists at Australia’s Davis research station have taken more than 600,000
measurements of the temperatures in the upper atmosphere above Antarctica. We've done
this using sensitive optical instruments called spectrometers.

These instruments analyse the infrared glow radiating from so-called hydroxyl molecules,
which exist in a thin layer about 87km above Earth’s surface. This “airglow” allows us to
measure the temperature in this part of the atmosphere.

Our results show that in the high atmosphere above Antarctica, carbon dioxide and other
greenhouse gases do not have the warming effect they do in the lower atmosphere (by
colliding with other molecules). Instead, the excess energy is radiated to space, causing a
cooling effect.

Our new research more accurately determines this cooling rate. Over 24 years, the upper
atmosphere temperature has cooled by about 3°C, or 1.2°C per decade. That is about ten
times greater than the average warming in the lower atmosphere — about 1.3°C over the past
century.

Our project also monitors the spectacular natural phenomenon known as “noctilucent” or
“night-shining” clouds. While beautiful, the more frequent occurrence of these clouds is
considered a bad sign for climate change. Our research also monitors how cooling
temperatures are affecting the occurrence of noctilucent clouds. There is already some
evidence the clouds are becoming brighter and more widespread in the Northern Hemisphere.
Hence, long term monitoring is important to measure change and test and calibrate ever more
complex climate models.

SubQuestion No : 20
Q.20 What is the antonym of the word-‘rapid’ as used in the passage?
Ans X A. Apparent

< B. Hasty
X C. Ponder
” D. Tardy

Question ID : 1034354130

Q1 Fufafad uy &, iy 10 ar e & 9, 39 fawey &1 997 ¥ S f3y T gara’ & orf
! WIIY FU | Had pRaAT B
uTq § 3 ws=T
Ans X A e BT 3t I T
X B. fea-ma uRym &=m
X C. oW H g8 Re e BT
« D. o & g

Question ID : 1034354145

Q2 fufafad vy %, 3w T ar e & 9, 39 fawew &1 999 % St fu T8 garar &
F TANY T A I BT 2
T BT ER AT

Ans X A ff¥d g
& B. 3= T g
X C.TH 9d W RR T @
X D. ¥ THR HH HAMT

Question ID : 1034354144

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S29D1589/16477025152339750/ ...

22/47



4/5/22, 3:22 PM

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242529D1589/1647 ...

Q.3

Ans

AT T Trsg &1 e v ga SR
wfcud

X A SR
o B. U
X Cc.oHmm

X D.3bm

Question ID : 1034354135

Q.4
Ans

fFrafafea ool & 9 WRa 9 39 Sl

X A. i afa g & fore 7R fie ST © S9N 98 IgHaR deardl ¢l
X B. S« afda g & forg 7R fire ST ©, o 98 Fea IgHad Hoed o

o C. Y & for R fiye aren safdd geam agvad 3
X D. 98 afax a1 IPHE g, Sl AP & forg IR A

Question ID : 1034354139

Q.5

Ans

fow 1Q aTea BT g Fd FIREI
Yot Tt Y 21

X A Tad AeH

X B. 3TaRl q@®
X c.Fauy

& D. U U

Question ID : 1034354141

Q.6

Ans

fow ¢ gt ® WA wdaw e B
¥ I8 HET AN S 9 B

X A TS
X B. HgrLId
X c.a@@
o D. TGS

Question ID : 1034354131

Q.7

Ans

fow v wrgY ® Y o+ &1 T P
X A. 3T

o B. 3MGRN
X C. g
X D. TR

Question ID : 1034354136

Q.8

Ans

3T T 2reg g 1 WL Weg T 1 FiforC
3y : 3Rt

o A. g Tadt : g
XB.&I'IEEIT:%TIHT
X C.ual: I dah
X D. fosumn : uef

Question ID : 1034354137
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Q.9 T Y e} BT WEY TRH-Togd T PO

Ans X' A Tard-dad
X B. U3
" C. Y5-3l6
X D. DT

Question ID : 1034354133

Q.10 frafifed favm Rel & & #i9 @1 e fag @2
Ans o A -

X8

xc .

X D.,

Question ID : 1034354143

Q.11 fgfafag area # T uRumars fagvor e Fikm
T3 e ¥ fig IR tiex wusT Azl

Ans }(A_Qf.r
X B.®USI
X c. & fau
o D. IR TR

Question ID : 1034354132

Q.12 3T 7T a1 ® Suga favmH fug &1 aa+ siforwl
I i 95 33T RAeSt § A S e ge

Ans X A “”
' B..
X C.o-
X D.0

Question ID : 1034354142

Q.13 frafafla ared & } Tgad ared g SR
Ans X A Tfc 98 Siedr o 98 9 Sl
& B. 3T 9IdT 3R I8 Ial T4
X C. 9 & 3T s 39 & 9% T
X D. 39 dia- ¥ 98 Ia1 T4

Question ID : 1034354140

Q.14 3T 1T a1 FT $RS F1d BIoQ|
T I, TET eMmeit

Ans A HdleH
X B. R0
X C.wdl
X D. 3ffya=u

Question ID : 1034354138
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Q.15

Ans

e U v 1 wufuarE e wia SRl
T

X A B
X B. T
& C.Tg
X D. @Y

Question ID : 1034354134

Q.16

Ans

Comprehension:

TS TR T T B 1 I & SIYR WR U Uy AU N § | TN &Y Agde ug auT Uad Uy
T 9R fawedl & ¥ gt fadhed g1

A S R Wt R B 1 e a8 = B, R Soil o1 ITe BidT 1 Soll o7 Tad 971 Tl 3¢
7 N o Yt U IR WaRT H A S Wbl § SR T8 §HR U WA A H 81 S84 3411 & J0Y
o gAR forg 9gd € Suahht 31 U Sa Ud S S & I WId & | T8 FHol U R
T FST T B S8 Y 37 7O 3R I IcTeH F R &b YR TR fafirar oy &
fqufora foram STaT 81 $2 SeH W% S & d8d 1A &, dl $S B! TRA 367 & =9 F
iifepd foman AT B 1 S0 W T 3 §, TO ORA ¢ IR $S TG &1 T SHaTH S 7 S 5
F SMYR TR} S-SR HHT ST § 1 3 G Sfarar it Ueb 3R SR g fora iR 3= fawfom
e a1 € SR 9 e b A Adieeoiy a1 R-Tdieoig $u &1 gHR Sita &Y Far $ g e
TP o BT iy B9 BT ¢ | USITTH Td Wi 19 H1ad & Wiad TH.UH. St A 59
ST B BT P FET 7 30 Yae & USIerad IaTe! & Hed R U BT 99d | SR
fean 3 ufagifver & 3z & Tt fRren S1sf ¥ 1.48 FIs I wureT s=at 3 Y femn| aret & S
JUIRT F S T TUREOT T o Yol § | U BT S HRAT ST 81 Heedqul § ForaT o Se
BT eI

SubQuestion No : 16
frad grRT 39 R Ft yEsna 1 w32
X A THTH el
& B. TH.TH. $S!
X C.Tuwa g
X D.TaTH HEl

Question ID : 1034354149

Q.17

Ans

Comprehension:

Teb T T T B | TR & YR TR OiE Uy AU L ¥ | i b eqHgdes U qut Ul Uy
T R fawedl § 9 gt fodwed g1

g9 SeF Rt PR B 1 o a8 91 7, R Soil &1 ST 8idT 81 Sofl 1 Fad g8 Wid S4q
B o1 o it U SR W & 1y off Yehdl & 3R I8 GAR U Wi T § €1 3 31 & 99d
# R forw 7gd €t Suanft 81 Uaw oa Ud PR SeF & 4 WId &1 T8 ol UTtd B Bl
T TST I 31 S8 Bl I U 3R 3% IcTe & adich & YR TR fafdrsr Sforar o
T e Tl €| P So IS SoF & ded oM 8, 4 $© P WA 24 S FUH
i fBa1 T 71 378 A T 31 §, $© R § AR TS TG ¢ | 376 SNAIRA S8 7 91d S8
F SMYR TR U} S-S HHT ST & | 3 qaadb Sfarar 1t T 3R SNyR 8 forg iR 3% fawfora
foam T § SR 9% U i A e a1 TR-AdiARufg $eH €1 AR Siiad Bl T & g e
U 34 1 Hifd BTH bl g | USITeraH Ud Ui 119 HATer & Wi TH.UH. Pl - 39
ST B LB B FeT 7 U Yae H VI IaTe) & Hewd 3R S8 BT 9d IR SR
a1 T UG B 31 & wet e SYSF § 1.48 RIS & waTer I A YT R aree & Sfd
IJTINT & Se T WA T S Wbl § 1 S8 Y S 31 S & Feaqul & foraT fob e
BT ITEA|

SubQuestion No : 17

S 9 frueT ST giar 82
X A TRe
X B. HioH
o C. Sl

X D. argt

Question ID : 1034354147
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Comprehension:

TS TR T T B | T & YR WR Ut Uy AT TE B | T dY eydes Ue auT Udd Uy
o IR gl o ¥ TE fadbed T

gA S R W R 1 e a8 I 8, O Foil T IS 8idT 81 Holf T I 58T Wd 3¢
7 o for Rt U IR TRt & A S bl § SR T8 §HR U WIfHd A H 81 34 31T & I0Y
o gOR forg gd & Iuahht 81 USRI Ga Ud S S8 & T WId & | I8 ol U = Sl
T FST 1Y 31 S8 B 379 7O SR IA% IcTeH & RId &b MYR TR fafirar ot &
fqufora foram STTaT 81 $© SeH A% S99 & T8 1A &, dl $ B! IRA 3847 & =9 F
Fiifepd foran AT B 1 T9H 9 $T 3§, TO ORA & IR $S TG &1 T SaTRA S T O S
F SHTYR TR} S-S HHT ST B 1 37 Taap farar +f U 3R 3R g o R 38 fauifora
e T & 9iR 9 Ue b A Adieeofiy a1 R-Adieboity Ser 81 gHR Sita &) Far $ g ieH
TP e DI Hifd S0 ST ¢ | USITH Td Widhfass 19 H1ad & 9iad TH.UH. et - 30

ST Y BT BT F! = 3 ey | UIegd IaTe) & Hed AR U $I 99d | SR
a1 3 ARG B 31 & wet R SvSf § 1.48 TS v o= A W R A & Sfid
JUIRT F S HT TR&OT T S YavdlT €| S4BT 9 AT ST &1 Heeaqul 8 Fora o Se
BT |

SubQuestion No : 18
Q.18 Iuyad TR BT SUGad d T gRI?
Ans X A SYF BT IAGA
& B. Sl BT WRe0
X C. IS ge
X D. S SR T | Iudsd

Question ID : 1034354151

Comprehension:

TS TRITT & T | I % SIYR TR utd Uy AT U § | TR Y earydas Ue auT dd Uy
# IR fawedl # ¥ TEt fawen T

gA S R Wt 1R B 1 $e 98 = B, O o1l o1 IS 81T 81 Soll 7 Tad 971 Tl s
8 S % Ryt tep SR vah & Wy o o § o I8 §HR U Wi 7 8 81 SUE oS & 9
& AR forg gd € Iuahht 31 U Sa Ud S S & T WId § | I8 ol U R B
T ST 1L B $8 Y 3 TUIT 3R I7d IcdIeH F R &b SMYR TR fafiar ot &
fquifra fopam STaT 81 $@ SeH WA $49 & dgd 31d 8, dl $B P! URH 387 & =9 F
Fifepd foman AT 81 590 ¥ $B 3 §, TS O § IR $S 1A &1 T SIaT=HA S I7 o1d 5
F YR TR U} S-S T ST B | 37 T farar Hf U 3R 3R g o iR 38 fawnfora
foba man € 3R 9 e b A Adieeoiy a1 Rty $ue 81 gHR Sita &) Far $ g ieH
Ta $e &1 Hifd BT Hal § | U Td U fae 11 HATery & |feid TH.UH. $gl 3 59
ST Y LB P FET 7 30 Y | UIeragd IaTe) & Hed AR U Sl 99d | WIR
a1 3 UG B 21 & |t e S1ST  1.48 TS I wTer S T W R A & S
JUIRT A S T TRET T S el § | S BT S 3T ST &) Heedqul & Foren s Se
T I |

SubQuestion No : 19
Q.19 g9 yfaaifirar § fas =i = uRT form yr?
Ans X A 481 RIS J S
& B. 1.48 RIS T i
X C.148 RS T HY
X D.1T9 ¥ 34

[ Question ID : 1034354150
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Comprehension:

TS TR o T § 1 RIS & YR WR U Uy AU Y § | T Y ergdes ug aut Udd Uy
T 9R faweul § 9 Wl fdwed 1

A $eF W off 1R B 1 e 7 =T B, O o1l o1 STe 81T 21 Soll 7 Tad 1871 Wi 3¢
2 S 3 Rth o IR TR & A ST v © SR I8 BAR UT e =1 § 81 e 31 & JHg
o gAR for 9gd & Suantt 81 USiform &d Td Sae SUF & TR WG & | I8 Sl UTed i
T FST 1Y B S8 BT 37 7O 3R Id IcTeH F RId &b YR R faflrar 9ot &
faifora foman STTaT 81 @ S IS $4F & d8d ST §, 0 $ B RO S8 & U H
Fiifepd foan T B 1 T9H 9 T 3 §, TS ORA & IR $S TG &1 T SaIRA S T O S
P 3MYR TR o} SIeRT-31eT HHT ST 81 371 G 3efrar Hi uep 3R 3R § forg wR g fawnfora
o T § 37X 9% Ug b A Aoy a1 TR-AdIeRug S4 €1 AR Sia Bl gam & g Hie
TP e DI iy ST BT § | USITH Ud Ui 19 H1ag & 9iad TH.UH. $et - 59
ST Bt LI D1 FEt = U Fared H U IdTe! & Hed 3R 347 &I F9d W AR
T g ufaaifiar & <=1 & Tt fRren 1S T 1.48 BRI F TeT F=t 3 W feran| areet & Sfed
SN ¥ U BT U0 501 S Gl © | S BT §9d HAT I 51 HedqUl § foraT o 3o
BT IS

SubQuestion No : 20
Q.20 e & YT wld 7T 82
Ans X' A TRHIY T DY
« B. UCIRIH &4 @ Sigan
X C. AN d 3 S
X D. IS 9 9

Question ID : 1034354148

Section : Discipline1

Q.1 9 3mg 9% ¥= g, @il 3R By St ol =T = e 2a 82
Ans X A 27§

X B.ea¥

X c. 1099

& D.37TN

Question ID : 1034354156

Q.2 Children coming from close-knit and caring family are a victim of
Ans X A.Low self-esteem

#< B. Bullying
< C. High aggression

® D. Separation anxiety disorder

Question ID : 1034354166

Q.3 Which of the following is psychological aggression?
Ans X A. Aggressive behavior used as a means to achieve a goal

25 B. Instrumental aggression
«” C. Relational aggression
25 D. Overt aggression

Question ID : 1034354170
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Q.4 Which of the following statement is correct?
I. Real self and ideal self are same thing
1l. Real self means the person he/she actually is

Ans X A. Neither | nor Il

< B.Only |
< C.Both land Il

o D.Only Il

Question ID : 1034354168

Q5 Fufafad & 3 o o Fu= ag 82
1. T TS SRl U & SRR WY $1 ermar &1 iR s awar g
I1. I8 AT B &Y SIET-IAET TeTIH YUl I Mfeasp 3R = & RIFiaid Fb
YT U | Hriha Tfa #} e 1 fawR svar g

Ans g AT EHT
X B.AgIATE
X C.%ad|
X D.oadll

Question ID : 1034354162

Q6 s dwried_ # g A w7 o g
Ans X A 12T

o B.6TY

X c.3qd

X D.109Y

Question ID : 1034354155

Q7 Wﬁsﬁmﬁﬁ%aﬁﬁﬁuﬁamﬁ%ﬁm,mﬁﬁﬁqwmww
?

Ans X A S DI U ATI-UAT S T B MG BT SHTERT FAT INMGY
X B. 5l DI U UISH &1 Wi W& oA o ford Urenfed fapan s anfge
X C. 5= &I 9y W T Raamr S 3y

o D. Tl W &I I3 41 O arell g diol WH & o gara =781 STan anfeu difds d s
FAR! Yo ! W-faFafid HR 9o

Question ID : 1034354154

Q.8 fHfrfaad d o9 I HYT IS 82
1. & 3R B Ag-Td P 1T T=1 B URTHT BT Aaep IoN P il mar &
I1. F=31 1 3y Fs & T A 91 IUBR AT 918} RN & Siata e 7

Ans g A LTI EHT
X B.¥ad|
X Cc.Fadall
X D.AEIARI

Question ID : 1034354167
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Q.9 Which was the first state in India to introduce mid-day meal scheme?
Ans  # A Tamil Nadu

< B. Uttarakhand
5 C. Jharkhand
< D. Madhya Pradesh

Question ID : 1034354171

Q.10 fref Ry ge =R If$® a1 SR HEY 8 A1 T8, B AP w4 e B E-
FaeTES SRS UGRT_ Peardi gl

Ans X A. CIexT fdffe
X B.Sigarg
& C. ORI
X D. R R

Question ID : 1034354159

Q.1 Fyfafad & ¥ &9 Wt smarsuTEs i 32
Ans X A faRS ergva &1 dideiiere wfa
X B. Wfa, uRiferd femraraf &1 seRa TR e
X C. Jfas Ft 3 a7 oY a1g I
«” D. 307 W & Sita-1 1 fafkiy ge-rell &1 wifd

Question ID : 1034354160

Q.12 Which of the following statement is correct?
I. More tightly organized plays have an edge in motor development in childhood than
unstructured play
Il. Rough-and-tumble play come under free, unstructured activity

Ans X A.Bothlandll

< B.Only |
«” C.Only I
25 D. Neither I nor Il

Question ID : 1034354158

Q.13 fmfaf@a & A $19 a1 IHHE U= & IR d 9 32

Ans X A FUITY Ra
X B.TH MM & 1Y TG BT HHTG B B &
o C. 3l 3Gl & oiF, TP axg BT ] axg o ey SR ey S
X D. A &t gmar

Question ID : 1034354161

Q.14 & gRT WTaTsi $ uga ok ufafds s &t # Hag Prar el
1. Siaey U HA
1. et <t are @

Ans g A Had |
X B.%ad Il
Xcamgiaa
X D. 1 du 11 gt

Question ID : 1034354153
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Q.15 fgfafad # 9 S 91 $y= 98 82
I. IEHRT g Sl 3T S SUYF AR HHEA A Heg Bd §
I1. ATaT-fiaT & U g & Y WY BT I b UTAa-UIv0 IR HIs WHT T USaT

Ans X A FTEIIATEI
X B.%had Il
& C.5ad |

X D. 1 duT 11 gt

Question ID : 1034354164

Q.16 PERFIRAT A A A S e FRIM AT
1. 4 U
1I. SIS SUNTH

Ans X A ATEIATENN
o B. 13U I Sl
X c.omaall
X D.Fad |

Question ID : 1034354169

Q.17 faemerd & iftrpie BRI fohd BRI P &A1 BT THH B 82
(RCEGL I ED

.G =ITIr
Ans X A FHadll

o B.Fad|
X C. 1yt gt
X D.AgAEN

Question ID : 1034354163

Q.18 Which of the following statement is correct?
I. During middle childhood the ability to co-operate is more among girls than boys in
friendship
Il. Intimate sharing is more common among girls than boys in friendship of middle
childhood

Ans X A. Neither I nor Il
& B.Only II
< C.Both land Il
25 D.Only |

Question ID : 1034354165

Q.19 PufifET & A S 1 Hiv sfied sEleRae ¥ St s g2
1. 3T,
1. foroTs
111, TR

Iv. g

Ans X A l1TUTII
X BTV
X coau
& D. 1, 111 T IV

Question ID : 1034354157
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Q.20 5§ =1 IO HRG 78T BT €, d) JTHISS araraxor & ¥ 9 STel Heg fadt 81
1. gram (FPTHBIRE)
1. haerar

Ans X A FTEIIATEIN
o B.ad |
X c.%aall
X D. 1 du 11 gt

Question ID : 1034354152

Section : Discipline2

Q.1 g3 AT TR & B a1 $O O St SR HaT | T dlad § SR St Smdk W
T F Uga 30 fourT A R iR wy ReRa #a g, 3 T gl

Ans X A Tfha &
X B. YA 8=
o C. Tl o=
X D. R Qe

Question ID : 1034354186

Q.2 Al ¥/ 917 & $y= U wParfa & e A udt 32
1. 3 A e W 91 TR fade, e 9 ura ok aren a3
1. IS @t A srerfriRaT &1 ieTed feani
1. 38 o Prears A Ry 7Y 4T

Ans X A 1 TUTII
X B.%ad |
X C.uaari
o D. 1T

Question ID : 1034354174

Q.3 f5d e & SR A3 BT HaqH 37 B WU Feg gon?
Ans XA.G-IUW‘IE”E&'

X B.ags

X c.fgdufay gs

 D.UYA Ty gg

Question ID : 1034354172

Q.4 The teaching learning material can be categorized in different ways. Which of the
following is NOT correct?

Ans  # A. Sensory material
#< B. Prepared material
5 C. Audio-visual material

< D. Non-projected material

Question ID : 1034354183
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Q.5 i § A SH-91 o) S THH Gadr ST ST 98 aTH 82
1. O SR WTaT 9 faway ® e nfafaftray & fore gurdt
1. BT 3T T & SreHg B Ihd &l

Ans X A FTEIATEN
o B. 13T I gl
X c.%aall
X D.Fad |

Question ID : 1034354189

Q.6 Which of the following are the key components of systematic model for designing
Information and Communication Technology integration plan?
I. Rationale for using the technology
1l. Strategies for implementation

Ans X A. Neither I norll
«” B.Both land Il
& C.Only Il
< D.Only |

Question ID : 1034354191

Q.7 HfFTd A & yae & FeH § Fraferfed # Q o5 a1 vu= 98 82
1. B P T R T3 SafeTa e feut S =nfgu|
II. BT & BT B! FRT Bd 0T fA-gw &y § T4 =T1feel

Ans X A %Had|
o B. I TUT I G
X c.oagg
X D.Fadll

Question ID : 1034354188

Q.8 Which of the following assistive devices is required for students with hearing
impairment?

Ans X A. Optical aids
25 B. Wheel chair
4# C. Communication board

#< D. Crutches

Question ID : 1034354179

Q.9 HEEP qe-e Wufcad TP ITHRT gt gl
Ans X A DlElS

X B.®aH

« C. 73T

X D.Vafed

Question ID : 1034354190
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Q.10 .37 MR 3ifvrard a1 Rre siftreR sffeaw, 2000 Tt e & T gU SR By
F Tl # Frafafea o @ o9 w1 sy ad 32
|.%h%;mwmmﬁwmﬁmm%ﬁ%mw%mwwmm
gHar gl
Il. TF §= H1 BpIf= uftean & srefi e off i 31

Ans X A TGN
& B. 1 QT 11 G
X c.dhadll
X D.Fad|

Question ID : 1034354176

Q.1 fFEfifEd # & fog 3o i orawur & wqg o1d GHa T8 82
1. Ul § 9 B
Il. B g H &S BT

Ans g A Had |
X B. I I g
X c.agAgn
X D.Fadll

Question ID : 1034354185

Q.12 FreAfie wWR W RAean & Rie aarash fRiam @ demr AT TERI
Ans X A 1997-98

X B.2012-13
< C. 2001-02
& D. 2009-10

Question ID : 1034354180

Q.13 fufifld & @ S 91 uwed afgansii o1 Yede 82
1. enffer U A T
1. FTHTRTS TR & HIT ST

Ans 2 A | TUT I GHT
X B.%ad |
Xocagiaa
X D.FHad

Question ID : 1034354177

Q.14 Fyfafea § @ o9 ot g § wrdt e Ao g2
i wmaaﬂuugﬁm
.
1. ST

Ans X A &Hdd |
& B.1 11NN
X c.Faal
X D.lau

Question ID : 1034354181
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Q.15 wumaft Rren & v A FafafEa § Q@ o9 o s adt 82
1. 30 U TSI SGRUN HHT STl B
I1. 3T faerTerg S uiaRoT Bt uithar 3R a=i & SR SR Rig 9% ugw W @ Higa
HAT A B

Ans X A %Had |
o B. 13T I gl
X c.waan
X D.ARIAE N

Question ID : 1034354182

Q.16 3rF@eur & gHTGT & Ta A Frafafea & & o= w1 sy w76 82
1. T 3MTe=l & 3aaiPp & UNRUTHERY 4T UGER YT He-T ATET UHE g1
I1. THEIBRUT YUTT FT TH ITR0I AP HAGER 7

Ans 2 AFIRIATEIN
X B. Fad |l
X c.pad |
2 D. 13y Il &t

Question ID : 1034354187

Q.17 ygaH o & i fobe fRuferat & o=t & IRPRY &1 Iewiu gian 21
1. T B U YR I3 3R welt 3af¥ a B0 HA F fore AereR fbar war am
I1. =T 1 IR TR @yt gRaung e fireff
1. 37T faermerg | T Sapr A G R |

Ans g AT
X B.LITAIN
X c.oadll
X DAt

Question ID : 1034354178

Q.18 11 §f SR Faert F AfP! B Ha e faar mar 12
Ans X' A 8 3T 1857

7 B. 12 37T 1857
o C. 1 3d 1857
X D. 5 3T 1857

Question ID : 1034354173

Q.19 so13 fFEeH &1 it fuffia Treaswy arh A § SRa seEal & 169 & 91 IRE gidn
W%ﬁﬁmﬁwaﬁ"m%mwm"wqwmﬁmﬁ
S qhar 872

Ans XA Sd 1T
o« B. ¥R & 3MyFe AreH
P ORCIEERCINE]
X D. YRd & 3 F1eA

Question ID : 1034354184
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Q.20 ﬁzgﬁ;ﬁaﬁ:@gﬁaﬁmﬂr&naﬁ‘wsﬁm, 2009 & g d Faffa A ¥ e
PYT ?
I. TP T= @ forsdl o faemera § RITHiaR T 9t il 51 &1 1S ARSI 81 g
1. T 3u+it URFS Rrem T w3 F R Yeb T YIar w1 & fore sverft 98 7
1. 9 RIFraw F il 6-14 a9 BT U o= 18 F forw ur 21

Ans X Al
X BTN
Xcoaui
o D.%ad |

Question ID : 1034354175

Section : Discipline3
Q.1 @ ifT U 7E Riesial R ametfa 31 Frafifea & & #9195 Risia 78 22
Ans X A fawen @i o1 figia

X B. Sexaqul gl &1 Rigia

X c. nfafafy &1 Rrgia

o D. 3 3R Jeaid &1 Rrgid

Question ID : 1034354196

Q2 mﬁ;ﬁwﬁ@ﬁﬁmﬁﬁmﬁaﬂ@w%wﬁﬁm@aﬁﬁﬁﬂm
FYT ?
1. frd=n @1 IwdF e & fore A e Inelt a9
1. R TTFRITR PT Gedip= B
. FE=n 1 Tmd v & e gremewe STRme a9

Ans  # AL ILTUTIIN
X BT
X coauin
X D.uaur

Question ID : 1034354193

Q.3 yd® THfa TR IS AHR 5o W 8, % yuiv & Siafa wfda gt 81
Ans o A 0TS 3R 360 fET

X B. 90 f&3ft 3lr 180 f&ht
X C. 45 &It 3R 90 feht
X D. 60 37t 3R 120 it

Question ID : 1034354209

Q.4 h-mﬁgwmﬁw(ﬂﬁaeﬁmaﬁﬂwaﬁ#ﬁmﬁmﬁﬁﬁﬂm
YT ?
1. YA §, YRd TRBR T4 ATHS 39 UIdel & WA A A9-SmeTie gua gred g (@Rma
3T TTATSH B Apiiid & I 21
I1. Ag-3mutfea gua g Rien@Rra = sifars &) Toft & forg fonsdt o sre wR,
S8l b AT 3R TaR NN it ugd 8, : 3o Suasy §

Ans X A Fdd|
X B.AEIATG I
o C. 1 a1 g

X D.Fadll

Question ID : 1034354192
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Q5 fgfafed & S 91 $y= 98 82
1. ST | UaT IordT 3 fh g0 A+ @il F g urar 3 JugE ok I A Ft
& AP & 1Y Srgary § Heg gt 3
11, 3T | U gerdr 8 fF IR F e 3R srgua @ g el ot e @ afiss &
¢ el F WTfira foban S @
Ans X A FHddl
X BT
X C.1aur i eet

o D. FHaq i

Question ID : 1034354202

Q.6 %M%mﬁ:ﬂ%m,wm,wmﬁwaﬁwﬁmﬁr&naﬁwﬁ T STl
|

Ans X A TR HIST
2 B. it Y
X C. R YW
o D. T U

Question ID : 1034354201

Q.7 fHfafadd Qo a1 $y= udi 22
%Wwwﬁﬁwaﬁmﬁaimwﬁmmﬁxmaﬁmaﬁmﬁ?ﬁ
I

I1. TIMAT TR TANYH B U & 1Y SFIAT BT YT B ATa=gHal 781 giel gl
Ans X A FTEIIATEN

X B. 19T 11 ST
o C.Had|
X D.Fadll

Question ID : 1034354207

Q8 fafafad A eI HUT I 82
1. E-3AUTST T | bad YT T=T gielt g
1. fe g | gt Tema ® | Ud® Igd 8, af @ We-SHTST T a1 aHhar g |

Ans X A &Had |
X B. 19U 11 A1
& C.E AR
X D.FHad|

Question ID : 1034354210

Q.9 Hem A Rrgor & T A Fufafaa & ¥ &9 a1 98 <1 & g 82
1. RI&rs gRT TS Uy - FURTA
II. 9= 9 IR - ufafspar
. Rrefe A Brsasw- rgada

Ans g AL NI
X B.%ad |
X couaari
X D.iaur

Question ID : 1034354199
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Q.10 fafifEa & q HI9 A1 Y= TE 82
1. ST SfagiiF, TeTEdaT IR Bare RAeRid $39 &1 Wigpfas e 2|
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